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=) UPCOMING ONLINE BATCHES

02 NOV 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

02 NOV 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

November 2022

09 NOV 2022 16 NOV 2022 23 NOV 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

23 NOV 2022

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

30 NOV 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org e  7052477777/7052577777
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Ritu Singh 2 days ago

Very nice session sir thank you sir -, home work 122 2/9%
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1.x>y
2.X2YV
3.X<y
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5.CND or
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4.xX<y
5.CND or

X=Yy



Data shows number of vaccinated and non vaccinated citizens in four villages
along with type of vaccine they were given. Refer to the data table in order to
answer questions mentioned below:

2T IR IMdl A ERIHIOT 3R IR-CIPIAIUT died AR hl AT & TTA-TTYT oo
few a7 b & YPR dl ATAT &1 A 8T 910 usi & 39 e & fow 2er arfara

oy

Non
Village Vaccine A Vaccine B Vaccine C Vaccinated
Citizens
Village A 2,00,000 1,50,000 1,00,000 10%
Village B 60,000 2,20,000 80,000 25%
Village C 1,20,000 70,000 1,80,000 20%
Village D 2,50,000 50,000 60,000 20%




What percentage of total citizens got vaccine B 1n village A?

T A W el TRTHEhT o fehel ST b STeht B fam

Non
Village | Vaccine A | Vaccine B | Vaccine C| Vaccinated
Citizens
Village A | 2,00,000 | 1,50,000 | 1,00,000 10%
Village B | 60,000 2,20,000 | 80,000 25%
Village C | 1,20,000 70,000 | 1,80,000 20%
Village D | 2,50,000 50,000 60,000 20%

1.30%
2.25%
3.40%
4.45%
5.35%




Find difference between number of vaccinated citizens in village C and village D ?
T C 3R I D H ZIRIehA0T ATet ARTIERT shl TEAT o sfie ST J1d shilsr?

Non
Village | Vaccine A | Vaccine B |Vaccine C| Vaccinated 1.15,000
Citizens 2.20,000
Village A | 2,00,000 | 1,50,000 | 1,00,000 10% 3.25,000
Village B | 60,000 2,20,000 | 80,000 25% 4.30,000
Village C | 1,20,000 70,000 | 1,80,000 PA 5.10,000
Village D | 2,50,000 50,000 60,000 A



How many total citizens got vaccinated with vaccine C?

T fohc THTIERT Shi el C T STkt SATITET T2

Non
Village | Vaccine A | Vaccine B | Vaccine C| Vaccinated
Citizens
Village A | 2,00,000 | 1,50,000 | 1,00,000 10%
Village B | 60,000 2,20,000 | 80,000 25%
Village C | 1,20,000 70,000 | 1,80,000 20%
Village D | 2,50,000 50,000 60,000 20%

1.280,000
2.420,000
3.350,000
4.480,000
5.560,000



By what percentage 1s citizens in village B vaccinated less than that of Village A with

Vaccine A?

Tid B H ATTRERT ! JF A o |1 T A 2 T H fohe ST s ZTehtehtor feRam 71T 82

Non
Village | Vaccine A | Vaccine B | Vaccine C| Vaccinated
Citizens
Village A | 2,00,000 | 1,50,000 | 1,00,000 10%
Village B | 60,000 2,20,000 | 80,000 25%
Village C | 1,20,000 70,000 | 1,80,000 20%
Village D | 2,50,000 50,000 60,000 20%

1.40%
2.30%
3.80%
4.70%
5.45%




Find the difference in number of non vaccinated citizens in village B and non vaccinated in

citizens in village D?

T B | TR-FIehToR0T Tt ATTIERT <hi ST ST I D H AR § T-dohTehiuT Tt TR shi

GTHT | 3T 1 i
Non
Village | Vaccine A | Vaccine B | Vaccine C| Vaccinated
Citizens

Village A | 2,00,000 | 1,50,000 | 1,00,000 10%
Village B | 60,000 2,20,000 | 80,000 25%
Village C | 1,20,000 70,000 | 1,80,000 20%
Village D | 2,50,000 50,000 60,000 20%

1.10,000
2.50,000
3.30,000
4.40,000
5.20,000






A and B can do a piece of work 1n 4 days and 6 days respectively. A and B undertook to do 1t
for 3600rs with the help of C they completed the work 1n 2 days. How much 1s to be paid to C?

A 3T B Ush T3 okl SHATT: 4 TadT 3T 6 T 5 S Tehd Bl A 3T B 9 C il Hee ¥ 3600 I91 doh 39
U T STST 3BT SR IR 2 AT H e 91 Toraml C =T ToheT SiraT ottt 22

.Rs. 1200
.Rs. 1800
.Rs. 600

.Rs. 1600
.Rs. 1000

o B WDN =




Pipe A can fill a tank in 36 min and Pipe B can fill a tank in 45 min. Both pipe opened together.
Pipe A is closed after x min. Total time taken to fill the tank 1s 30 min. Find the value of x ?

UTET A Teh 3ol ol 36 fHe T WX Wehal & 3T UTS B Ueh ohl &l 45 fiHE H WX WehdT 21 ST UT5H Teh
1Y G TU| UT5Y A I x T o o1E oig T T STt 21 bl ol i ¥ T 1T st & 30 e 21 x

CIR IEINCAIS N

1.12 min
2.15 min
3.10 min
4.24 min
5.20 min



A lady travels a distance of 40 km by car in 20 min. After that she covers another 20 km by a
bus 1n 30 min. What 1s the average speed of her during the whole journey?

Ueh AiEedT 1 gRT 40 ToreY & 2 20 fire § qa st 2. 39k o1 98 Ush 519 9 30 fuqe 1§ 20 forddt
<l 0 T AT 81 T AT o6 S SHeh! e T 7T 82

1.36 km/hr
2.90 km/hr
3.72 km/hr
4.24 km /hr
5.NOT




Two trains travelling in the opposite direction at 48 km/h and 24 km/h completely pass one anoth )
in 1 minute. If the length of the first train 1s 480 m, then find the length of the second train ?

48 Tehefi/eieT 1T 24 fopefi/siet <l Tiic | forerlie e o AT sk aredt &1 24 ot ote o Ueh g i 1 fime o
T ShTcll &) Ffe TRt ¢ shi TielTs 480 Wi &, i el ¢ ohl wialTs T HIREN

1.620 m
2.720 m
3.720 km
4.1200 m
5.620 km



The principal 1s 10500rs, Rate of Simple Interest 1s 12% and Time 1s 10 years. 1/3rd of interest
earned from A invested in B for 5 years at 12% rate. Find the amount received from B after 5 years

TTEA 10500 T 2, HTEOT SATS] ol 3T 12% & 3R EHT 10 A1 81 A H STSId 4TS 1 1/3 ‘HFTBﬁSEFSﬁ
%%@ 12% sht 2T & TaeT foram AT 21 5 991 oh o1 B 8 T9 TRT J1d hifSi?

nees
2.5480 rupees
3.6720 rupees
4.2520 rupees
5.6250 rupees




V gave 16% of her pocket money to S. From the money S received, S spent 15% on buying book
and 45% on buying a watch. After these two expenses, S has 3200 remaining. How much would
V’s pocket money have been initially?

V o A9 dTehe 7SR 16% S ohi fE@Tl S ol IT6 €4 H §, S o T&deh Glied 1T 15% N =t @i T
45% @ ToRaT| 3 a1 @il 3 e, S % U 3200 I ) I T\ ol Giehe 7t fehart 2o

L=,

.Rs 50000
.Rs 40500
.Rs 45000
.Rs 40000
.Rs 55000

o B WIN -




P, Q, and R put their money into a 9 * 7 « 8 ratio. After 7 months, P invested the same amount as
before, Q and R withdraw 3/7th and 3/8th of the 1nitial investment, respectively. If the total profit

at the end of the year is Rs. 20,200. What 1s R's share?

IMRAAFRIT R 9 : 7 : 8 3 UG H [T 7 HEHT o 91, P 3 UEA o G U3 ok ey foma,
R SHHST: STEfTeh T1oreT a7 3/741 ﬁt:s/sammﬁmaﬁ%mﬁaﬁéwqﬁw T 20,200 T

%l R hT feeeT = 87

.Rs. 3250
.Rs. 3580
.Rs. 2470
.Rs. 5400
.Rs. 2530

o b WN -




After a 25% 1nitial discount on the marked price of an item, a shopkeeper offers a 20%
additional discount on the discounted price. If the final sale price of the article 1s 600rs, then
what 1s its marked price?

Teh & o JifeRd 7o W 25% ! THIe B o o1, T hTER ! 9o W 20% AR g2
SEHERCTG IR aﬁa“v—crwaqﬁlﬂ EERRCE 600 E@% Y zHeRT 3ifhd e TR

.Rs. 680
.Rs. 725
.Rs. 1000
.Rs. 1070
.Rs. 1200

o b WN =




A sum of money was divided between T, R and K 1n the ratio 7 : 4 ¢ 9. But, K gave 1/3 of his
share each to T and R. If T received 1800rs more than R, then what is the total sum of money?

Teh GRT T T, R SARK s off= 71 4 1 9 o AT | forrisTd foram 7ram o wifek, K 9 T IR i
amﬁ%@m1/3%wﬁm|aﬁTﬁRﬁlsoomﬁ3qﬁmwsg,mom LTTTST RIT 29

.Rs. 6000
.Rs. 9000
.Rs. 12000
.Rs. 15000
5.NOT

> WN -



Time ratio for upstream to downstream distance 1s 5 * 3. Downstream speed 1s 15 km/hr, find
the time to travel a distance of 31.5 km in upstream (in hour)?

YT o Wfcihe] § STIIETE St oh Il 9 3T S @ 3 8. T o 31kt 1Tt 15 Foheli/eier &, e <
qfdehet 31.5 Fm"q"r?ﬁajr Ta T T THI (ST /) JTd hifS?

<\/> L2

2.2.5
3.3
4.4
5.NOT



The area of a square 1s 1225 sq. cm whose side 1s five times of the radius of a circle. The
circumference of the circle 1s equal to the length of the rectangle. If the area of the
rectangle 1s 924 sq. cm, then, find the breadth of the rectangle?

Teh 7] T &SThel 1225 1 HHT @ TSTeh! {STT Teh oI ohi (s3] H SIERICIES TR
ST T TS o S ) I SR T BT 924 0 g} &, T 3T 16T SteTs STd I

1. 21 cm
2.17 cm
3.16 cm
4.24 cm
5.20cm



